(4730 1 )
2011/4/30 )
( ( ( (
im lcm im lcm

al 9:23 0.52 1.08

a2 9:54 17 25 16:28 17 24

a3 10:21 119 18

ad 10:34 0.81 12

ab 11:15 144 2,55 16:00 13 1.76

a6 11:31 16 21 15:46 17 21

a7 11:47 8.0 10.1

a8 12:16 43 6.6 15:25 41 6.4

ag 12:58 7.0 8.9 1515 6.9 8.7

alo 1311 4.7 74 14:56 48 77 im 496
741

all 13:35 17 22

al2 13:50 0.83 15

al3 14:09 0.52 08




(4730 2 )
2011/4/30 )
( ( ( (
im lcm im lcm
b1 9:20 0.65 1.93
b2 15:40 0.88 115
b3 15:26 101 148
ba 15:05 0.54 0.68
b5 14:45 0.22 0.27
b10 14:18 0.25 0.31
b6 P 9:47 0.81 0.99
b7 SA 10:07 0.74 1.08
b8 11:09 0.20 0.26 13:59 0.19 0.24
b1l 11:46 0.29 0.39
b9 12:43 0.22 0.34




(4/30

2011/4/30

Im

lcm

c1 9:25 0.63 127
c3 10:08 1.96 3.0
c4 10:50 07 11
c5 11:49 0.19 0.26
c6 12:35 0.61 0.69
c7 13:23 20 2.6
c8 14:02 11 10
c9 14:15 108 17
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